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SECTION – A   (READING) 

Q1 Read the passage carefully and answer the given questions:-                 (4 ×1m =4m) 

       Shetty was a magician. He was returning home, when all of the sudden it began to 

rain. He took shelter under a little Fir tree. Soon the rain stopped. Shetty was very 

happy that he did not get wet. He rewarded four wishes to the fir tree. 

 

(a)  Who was Shetty? 

Ans _______________________________________________________________ 

(b)    What happened all of the sudden? 

(i) it began to rain.                                      (iii) wind started blowing. 

(ii) Shetty fell down.                                     (iv) Shetty lost his way. 

(c)   Shetty took shelter________ 

(i) in a house.                                               (iii)   in a boat 

(ii) under the fir tree.                                  (iv)   under a banyan tree 

(d)   Find the word from the passage that means same as “honoured” 

(i) wet                                                           (iii)      rewarded 

(ii) shelter                                                      (iv)     happy 



 

SECTION – B (LITERATURE) 

Q2  Answer  the given questions:-                                                                   (3 × 2m = 6m) 

a. Why was the little fir tree sad? 

b. What happened to the green leaves? 

c. What did the fir tree wish for the second time? 

 

 Q3  State “ true” or “false”                                                                             (2 × 1m = 2m) 

a. Shetty wanted to enjoy the rain._____________________ 

b. The tree didn’t want the birds to make nests on it.________________    

SECTION- C  (VOABULARY ) 

Q4 Do as directed in the brackets:-                                                                (6 × 1m = 6m) 

a. pretty              -____________________(write the meaning) 

b. stole                 -____________________( write the meaning) 

c. This glass of milk is full.  ( Rewrite the given sentence by changing the highlighted 

word to its opposite) 

 

d. The old man is wise . ( Rewrite the given sentence by changing the highlighted 

word to its opposite) 

 

e. proper  -   _________________     ( form opposite by adding un or im )    

 

f. healthy  -  __________________   ( form opposite by adding un or im ) 

                                                SECTION- D  (GRAMMAR) 

Q5 Rewrite the passage below using capital letters where necessary-     (2 × 1m = 2m) 

(i) one saturday afternoon amarjit and his little sister rani went for a picnic to 

india gate. there they saw ducks, water and their friend raj. 

 


